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A. detect

B, be detecting

C. to detect

D. are detecting

E. are being detecting

2 Choose the letter of the word or phrase that correctly completes th
body is far from a capillary.

A. Not

B. No

C. Notonly a

D. Neither a

E. Neither an

ES

1

3 Choose the letter of the word or phrase that correctly completes th
telephones achieved ___ in the 1960s, nationwide faxing became possible.
A. used widespread

B. were used widespread

C. being used widespread

D. use widespread

E. widespread use

4 Choose the letter of the word or phrase that correctly completes the sentence. Willa Cather, ___a
prominent American writer, grew up in Nebraska during the early farming years.

A. who became

B. became

C. she became

D. it is she who became

E. being become

in the dry season in ihe savanna wg}mq
A. Not

B. No

C. Not only

D. Neither

E. Without
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6 Choose the ’ssz‘;
test, the subject
. that he or sh\,
he or she
seeing he or she
. what he or she

. which he or she

m@@w>

7 Choose the letter of the word or phrase th
increasingly used as a source of pet 'r‘ca‘ﬁemé
A, No matter coal

B. No doubt coal

C. If coal

D. That coal

E. Were coal

§ Choose the letter of the word or p "ras& that correctls compleies the sentence. Dhigital systems
)E’ o J
WGﬂ{ first 33:‘/ cnapgmg q‘ual :‘; ana inen into st SN of numbers

convert the measurements
Bo the measurements convert
C. to convert the measurements
D. converting the measurements
E. was converted the measurement

(J)

9 The word “epitomized” could best be replaced by which of the following?
A. Typified

B. Systemized

C. Supervised

D. Glorified

E. Deeply

10 Choose the answer that could best replace the underlined word without changing the meaning
of the sentence. The flowering pebble is a plant that Jooks like a stone and grows in arid areas.
A. Saturated

B. Damp

C. Dry

D. Immersed

E. Sultry

11 Man: Did I miss anything while I was buying the hot dogs and sodas?
Woman: Yes, our team scored a touchdown!

Question: Where is this conversation taking place
A. At a shopping center

B. At the circus

C.Atacafe

D. At a stadium

E. At a bookstore
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12 Choose the answer that
the sentence. Guam, an is!
g e gver (o

aitauiﬁﬁd by

. ruled by

. influenced by

. kept

mt::)c‘*zg:z::»

13 Choose the answer that coulc }
the sentence. Harriet Beecher Q ywe was an obscure writer until the publication of
Cabin.

A. Anonymous

B. Unknown

C. Infamous

D. Eminent

E. Popular

€
the ser "ﬁ@ﬁw@ A bemm Eesém usual
A, Humane

B. Petrified

C. Congenial

D. Harmless

E. Ruthless

the Semence The @om a@pz al Imeg‘is of the Amazon are inhabited by different kinds of animals
A, Wild

B. Distant

C. Abundant

D. Immersed
E. Survival

16 Choose the answer that could best replace the underlined word without changing the meaning of
the sentence. Certain wild animals are weighed and studied before the effect of the tranquilizer
wears off.

A. Decays

B. Removes

C. Leaves

D. Shrinks

E. Restore




Man' mﬁ' s 1 :
including youz back, n 3 0s.
Woman: That wi imaw ﬁz %,ﬂ gu further?
Question: What are the man and womarn playing?
A. Golf

B. Bowling

C. Tennis

D. Badminton

E. Basketball

in the article.

What is heavy, hard, silver in
mckei phtmum, and silver itsel ’E {

omgmds‘y as qmw&;vm ” is one of thx
posﬁwe contributions to meta E ugy a‘ic C

toxic substance, toxic to all 1iy

of many industrial and chemzccl p;'ow

industrial pollution, ﬁnding its way into water where
man’s diet, with catastrophic—and therefore negative

A it is shiny.

B. it is not hard.

C. it looks like silver.
D. it is heavy.

E. it is colorless.

19 What positive contribution does mercury make?
A. Tt is a toxic substance.

B. It enters man’s food chain.

C. It nnpacts all life forms catastrophically.
D. It assists in industrial production.

E. It pollutes aquatic life forms.

20 Which of the following would be an example of an ®
A. seaweed
B. quicksilver
C. platinum
D. mercury
E. lion

Please answer questions 18-20 following the short article on th

18 The difference between mercury and other metals is th




Please answer g

the ariicie,

(George }
Best known f@
many well-writt

standard for pros

Eton, still now the top academy
government, pusiness, or acad

and England, then moved to Sp

Ironically, the powerful,

present and future generations
to ensure their basic humai

21 How did the young Orwell
A. He was much older than they
B. He was much richer than ﬂ
C. He was not interested ina

A. in Myanmar
B. in France

C. in Britain
D. in Spain

E. in India

D. Novels are more important

B@m in Bengal during th
home to Great Britain for a "n ¢

as a policeman in what today is

man. Fortunately, his works of ske

D. He was already a renowned writer u
E. He was much healthier than they were

emic

The experience formed | many of nis doubt

evern i “‘fpes

Df the need for citizens

mch‘{si

} Were,
uccessmi”

23 What, in the writer’s opinion, is the mo
A. People born in other countries can still be a geod writ
B. An early death prevents one from realizis 1g vorthy
C. Governments must be watched by their ¢
than essays in

E. People are interested in top academy for you

@Ccupa‘{ior

22 Where did Orwell probably learn firsthand and mo

s , He returned to France
n their Civil War. Exposure to the dﬁwmmt iden the
ey 3

gave Orwell the sense of hopelessness m? would later permeate his novels,

n entering schoo

st deeply of human suffering?

st important lesson {0 be learned from Orwell?

¢l

sitizens to ensure freedom.

1 influenci

ng public thought.

ung scholars.




still human ughts

R ey

mmdem, there is an organization dedicated fo n ig
injustices in the hope of stopping fufﬁ,ifre offenses. Amnesty

grown to a membership o

Amnesty International’s strength lic
discovered, men b,r write letters to their

This puts pressure on go ‘ ,
ultimately lead to hangcs in government

24 What is the man purpose of Amnesty Interngtional
A. Helping governments create political systems.

B Organizing protest campaigns.

C. Stopping human rights violations.

D. Teaching the media about inter nat:i@'zai laws.

E. Researching the political histor

25 How does Amnesty Internati Waé fight political injustices?

A. They organize a protest march in London
B. They research the country’s political history.
ur

. They prosecute the offenders in cot
D. They notify governments and the media of incidenis.
E. They win the Nobel Peace Prize.

A. Having a democratic election in a countr y 1 a king.
B. Changing unfair labor laws.

C. Discovering a lost, ancient society.

D. Imprisoned and abused war protesters.

E. British citizens concerned about international peace.

e}

27 Choose the word or set of words for each blank that best fits i
whole. Having no sense of moral obligation, Shipler was as littl
after he acted as he was motivated by its _ before he acted.
A rewards..chastisement

B. balm..eloquence

C. reproaches.. promptings

D. ridicule..allure

E. qualms..atonement

o

26 Which of the following would be an Amnesty International ¢
'3

the thousands of peopl@ worldwide who are incarcerated, tomurfcd, termrized

of their political beliefs. It began wéila y group of former political pr
& po

[

OIS wan one ’*u} 0oh U‘ GVET a hundgreq gl

v Tovtarm gt .
tyv internation

oncern?
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‘%ﬁih@h V\f hile h g init
c0E,Eaagu@s»«ua:z@;:e:}gﬁna@“ an N
pnce scientific theories.
A. descry..innovative

B. regret..insignificant

C. perpetuate..tentative

D. enjoy..authoritative

E. savor..heterodox

{
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26 Choose the word or set of words for eac
0 ‘

whole. Many artists believe that succ

is the first step in learning to be creative.

A. elegance

B. resolution

C. goodness

D. Origina}ity

E. sympathy

30 Choose the word or set of words for each blank that best fits the meaning of the sentence as 2
whole. While Parker is very outspoken on issues she cares about, sheisnot __; she concedes the

of opposing arguments when they ex
Al ﬁckle.avahmty
B. arrogant..restraint
C. fanatical..strength
D. congenial..incompatibility
E. unyielding..speciousness

31 Choose the word or set of words for each blank that best fits the meaning of ti e SE’MPN"E as a
whole, When people are happy, the } c‘ to give ___interpretations of events they witness; the
eye of the beholder is ____ by the emotions s of the beholder.

A. charitable..colored

B. elaborate..disquieted

C. conscientious..deceived

D. vague..sharpened

E. coherent..confused

32 Choose the word or set of words for each blank that best fits the meaning of the sentence as a
b

1 -

whole. Even those who disagreed with Carmen’s views rarely faulted her for expressing them, for
the positions she took were as ___ as they were co ntroversial.

A. complicated

B. political

C. subjective
D. commonplace
E. thoughtful
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suggest that
A reflective a Jgut
B. enamored of

C. skeptical of

D. encouraged by

E. offended by

34 Choose th
W?Ao’ie Td::—‘; dz“cov

. unden me

. control

. reassess

. praise
eliminate

s /A

mtj(’)bj}&

38 Cheose the wo
whole. Their mutual
A. amﬂess”produ«;e‘:
B. friendly..masked

C. playful..contravened
D. bitter..revealed

E. clever.averted

h

36 Because they were anxious to balance Wyom g’s popula

the state’s lawmakers extended voting rights to women in Wyem ing ir Which of the
following can serve as an assui Tu on which the lawmakers’ decision was directly based?
A. Women would vote in ways that wbmd make Wyoming a better place to live.

B. Women were superior to men in the ability to make political decisions.

C. Women would want to live in a place where they could vote.

D. Women who were willing to endure frontier conditions deserved the right to vote.
E. Women who voted would be better citizens than those who did not.

er
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by bromethalin will not pose a threat to other animals?

A Rats that consume bromethalin die immediately.

B. Animals often examine carcasses that appear in their territory.

C. Chemicals in the digestive tract of dead rats quickly break bromethalin down into a nontoxic
substance.

D. Traces of bromet

L

E. Certain animals are scavengers and feed habitually

halin remain in the rat’s mouth and saliva after the rat eats the poison.
on refuse and dead flesh.

37 Researchers have discovered a new poison, brom ethalin, that is lethal to all rats, even fo those
species that have become immune to other poxbon as we%? a5 to those rats that eat only the most
minute quantities. Tests have demonstrate that rats will not learn to avoid bromethalin and that

carcasses of rats killed by bromethalin no threat to the well-being of other animals. Which o
the following statements, if true, wo uh‘? su pp@ the researchers’ claim that carcasses of rats killed
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brand mcycée&
number of ridi
bicycles manul
riders of Xyioﬂ
different for the wef‘?@c‘ ;
the claim that the agency’s conclusion would |
A. For the period since 1983 the number of 1
number of riding hours for Xylos.
B. Of all the bicycles m‘deu in the period sine:
the percentage of Zenons ridden.
C. Prior to 1985, Zenon owners wer
sustained while riding their bicycles.
D. In 1985 the agency had miscal
£ Soon after the agency had issued.its report, €0
than did consumer demand for Zenons.

than are Fenon
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39 The facts show that the fear of
46,000 fatalities in highway secidems,
in accidents on major domestic

the evidence cited above is accurate
order to evaluate the force of that @szem

A. Whether repeated airplane travel allays fear of flying in airplanes.

B. Whether regional and domestic airlines spend the same average amount of time per aircraft on

&
maintenance.

o matnd o Fear F Fist U . PN G 61 Lot . .
C. How many people reported & fear of flying in airplanes that was strong enougo to prevent them

from traveling by air.

D. How many people per year have tra weled by highway and how riz’ery 7 air since 1980
E. How much higher the accident rate has been for regional airlines thas L@z‘ nmjor domestic

airlines since 1980.

40 Statistics over four consecutive years showed that four percent more utomobile ace c’ems
happened in California during the week following the switch to daylight saving time and durin
the week following the swﬁrh back to standard time than occu H‘Gd the week before each event
These statistics show that these time changes adversely affect the alertness of *California drivers.
The conclusion in the ar Gumem above is based on which of the following assumptions?

A Drivers in California as well as those in the rest of the United States have similar driving
patterns.

B The observed increases in accident rates are due almost entirely to an increase in the number of
minor accidents.

C. Four years is not a sufficient long period of time over wi hich to judge the phenomenon
described.

D. There are no other factors suc ch as school vacations or holiday celebrations that cause accident
rates to rise during these weeks.

E. A time change at any other time of year would not produce a

¢

ilar increase in accident rates.

‘_)




